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How will you mainly develop self-discipline
among your students ?

(A) Giving them responsibilities

(B) Telling them rules for good character
(C) Giving punishment

(D) Following the rules

A teacher plans his teaching learning process
keeping in view :

(A) The objectives formulated

(B) The human and physical resources

(C) Both(A) and (B)

(D) None of the above

Which of the following is not the element of
‘Stimulus Variation Skill” ?

(A) Set Induction

(B) Movement

(C) Gestures

(D) Change in voice

Intelligence tests are used for :

(A) Grouping the students in school
(B) Guidance purpose

(C) Selection purpose

(D) All of the above

What is not essential for measurement of
learning ?

(A) To know tactics of teaching

(B) To know validity of examinations

(C) To know reliability of examinations

(D) To know acquired skills of the students

The curve indicating complete information
about learning is called :

(A) Curve of increasing return

(B) Curve of decreasing return

(C) Curve of equal return

(D) S—Shaped Curve

Which step is not included in Action Research ?
(A) Selecting the problem

(B) Generalisation of results

(C) Formulation of action hypotheses

(D) Preparing plan to overcome the problem

From the following, which one is not the
element of ‘guidance and counselling’ ?

(A) Adjustment

(B) Orientation

(C) To develop emotions

(D) None of the above
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9. While writing on the blackboard, out of the 0. YHEUE WX foraa w9, JERT PT IR 77 X
following options, what will you specially keep & oy b 91 & a9y e e ?
in mind to decide about the size of letters. (A) THITE T el & =g q:{’[
(A) Distance between blackboard and students (B) TS T s 3 W g
(B) Distance between blackboard and teacher (C) T B T
C) Length of classroom
ED) Nongetof the above (D) SWgH H 9§ BIg Tal

10.  The cognitive behavioural skill of enabling the ~ 10. MG HIERTA B B i faemedt @
learner, to understand the use of theoretical deifas sl & IWINT Bl aafad aRRefEl
statements in real situations is called : ¥ g ® T 99T BEdTdl § ¢
(A) Understanding (A) ¥@dm
(B) Application (B) agglfrrr
(C) Analysis (C)
(D) Synthesis (D) G¥ergu

11.  From the following, which is the best method 1. fifoRad # ¥ forell femft & amaRe #Hwmal
of measurement of a student’s inner feelings ? WY B garm yfafdy o A § ?
(A) Questionnaire (A) WEEC
(B) Interview (B) WRIHR
(C) Sociometry (C) Il
(D) Transplantation method (D) "R fafer

12.  Teaching aptitude means : 12.  fweor i § ol @
(A) Devotion towards teaching work (A) T v & g FHaT
(B) Desire to become a teacher (B) R T B W G
(C) All the requisite abilities for profession ©) fw & e w Tl 9t draRt @

of a teacher .

(D) Good rapport with student (D) BT § BT Herailel

13.  Right to Education Act, 2009 has a provision  13. {2 T @R ¥, 2009 # WaeH & -
(f(:): Right to fr d | ducati = ﬁ:ﬁlﬁﬁ W AR P Emﬁ

ight to free and compulsory education :
(B) Nog mental and physilzal pzlishment to & A il 1 ,@ avs a1 fg
child (C) 91t SR & HRET B awe

(C) Arrangement for protection of child rights (D) G‘Qﬁ?ﬁ f
(D) All of the above

14.  While assigning a ‘project work’ to the 14, B @I TRAH HR' < GHE TF REd @i
stt_xd(fltn;s, a teachgr should always keep in TN 9 ¥ @A A1y 5 gge
mind that it must have : )
(A) Educational purpose (A) o dfere &l _
(B) Relation with real life situations (B) ¥ed arfdd Sila o1 aRRefaar § @
(C) Learning by activity (C) Wra fhar grT &
(D) All of the above (D) Sugh

15.  While doing group teaching, out of the 15. ETF([%EE—]CQTETUT w gy el @ afddTd
following, which method you will apply to IR & AR %g fopsforRea § 9 og @
solve individualized problems of each student? ) Al &7 wgrr PN ?
(A) Lecture (A) HINYT
(B) Programmed Instruction (B) famfid 343%31:[
(C) Tutorial (©) W
(D) Demonstration (D) P EEiG|
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16.  Thebehaviour ofa teacher may be from ‘verbal’ 16, 9=wo ufpar # e & @ger ofes @
to ‘non-verbal’ in communication process. ‘I’ a6 B THar 2|
(A) Itis true (A) T8 98 2
(B) Itis not true (B) TE Tard é
(C) Itis partially true (C) ¥E e w9 & e &

(D) None of the above (D) Wﬁ?ﬁ iy o

17. Why micro—teaching is important for 17.  FeT—heT TReT %@ ﬁ&q—ﬁ[&TﬂT T} AaF 8 ?
classroom communication ? (A) tlga_rﬂq-q %ﬂ
(A) To get feedback ®) ffm s 3 farg %g,

(B) To develop various skills
(C) To complete the lesson (C) e T![ & 3@'
(D) To evaluate (D) Hedi 8]

18.  As a teacher, if you want to correct the bad ~ 18.  JeUII® & & A Afe My & femfi o g9
habit of a student, which theory of learning aed @l R Ired &, ar fharcHs e 991
you w‘i?ll keep in mind while planning the T A ARTH B e fRieid 3 e ¥ ?
action ? .

(A) Insight Theory Egi maiil%[@? ﬁggmﬁ@a
(B) Trial and Error Theory _
(C) Classical Conditioning Theory (C) el W freia
(D) Field Theory (D) &= Rigid

19.  Personality of an individual is which aspect of ~ 19.  &fdtic, fopiY feRT & WAER BT DI A1 U § ?

his behaviour ? (A) GSHIHS U&
(A) Cognitive aspect (B) IR—HHIHH wef
(B) Non-cognitive aspect

(C) Intellectual aspect ©) dife® e
(D) External aspect (D) 49187 98

20.  The practical method to make student understand 20. faenfRt @1 #foq o=l &1 od wHeTH @l
the meaning of the difficult word is to : aqeRe fafy & -

(A) Teach them usage of such words in (A) S st @) arad § W e¥e e
B (B) fauda aref arel W ST

(B) Give their antonyms

(C) Give their synonyms (©) Wﬂﬁw am

(D) None of the above (D) UG A A BIg el

21. A child is scared when he see black dog, black ~ 21.  U% 1% FIel Fel, Bleil fdcell T4 Bl PIe Bl
cat and black coat. This conditioning is TGP T o T4 2| 39 UBR b e A
involved in : a8 :

(A) Generalisation of response (A) SJW HT AAFGIH
(B) Generalisation of stimulus (B) SEud &I ARG
(C) Both (A) & (B) (C) <HI (A) 3R (B)

(D) None of the above (D) G‘Wﬁ?ﬁ i Blg TR

22.  What is the real carrier of hereditary traits ? 22, TARE T BT IS HaleD T 27
(A) Chromosomes (A) T A
(B) Nucleus (B) d=d
(C) Genes (C) wird
(D) None of the above (D) a‘qg?ﬁ ¥ Pl TR

23.  One of the following is not the method of  23. frefoRed % 9 o Hfde A @ fafer 7 g
educational measurement : (A) HEIHR
(A) Interview (B) AAP—gfia qoeo
(B) Nomreferenced Test (C) VR
(C) Questionnaire o
(D) Observation (D)
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24, To understand the heredity, you must  24. CRIGER B GIE B o1 AU AAWE WY
understand : LiERINEIE
(A) The law of similarity (A) WA &I forgm
(B) The law of variation (B) f=ar &1 5z
(C) The law of regression (C) wferm @1 fram
(D) All of the above (D) qqg?ﬁ 9
25.  “‘Known to unknown’ is a: 25, ‘gid W I B AN B, U
(A) Teaching Method (A) e fafer
(B) Teaching Maxim (B) e Gkl
(C) Teaching Technique () R dHid
(D) Teaching Device
(D) fRregor e
26. Teaching strategy isa: 26. TR g o E
(A) Plan to achieve objectives (A) el Bl 9IS HA DY IS
(B) Method of teaching (B) e & fafer
(C) Extra activity in the class (C) e # aifaRa fopar
(D) None of the above (D) G’Tﬁ\‘ﬁ ¥ 9 ﬁ?ﬁ GE]
27.  Personality traits of Mesomorphic individuals 27.  IAER TRRG @A ae @fdd § UR S
are : el fId IO 8l &
(A) Traditional and social (A) WRERETE U9 FrifoTe
(B) Peace loving and solitary (B) it B v i fr
(C) Energetic and angry ©) e vd
(D) None of the above . ,
(D) SUgw # | BIg T8I
28.  Inteam teaching, a team of : 28. <o Rewr# <o &:
(A) Teachers, who prepare the teaching plan (A) SEAUH BT, W eI o B PR IR
and implement it IG@T fparau Fvar 8
(B) Students, who prepare the teaching plan (B) Bl @I, T PRRr QAT B JIR &R S9a!
and implement it I ol &
(C) Teachers and students, who prepare the (C) FeUHT T BT @, S e Qo @
teaching plan and implement it IR BT IGHT AT ol &
(D) None of the above (D) GTPjT'ﬁ L
29. The level of anxiety which makes student  29. fXidT @& 98 &R S B @I e & o R
receptive of learning is : XA E, qE B
(A) No anxiety (A) fiam 9 8
(B) Excessive anxiety (B) e
(C) Normal anxiety (C) WY Rrar
(D) Learning has no relationship with anxiety : . . :
(D) R (Grg=n) o1 ficT & g Hee T8l ©
30. “It is wholehearted purposeful activity — 30. “IE WG dTaTaRvl # AT T G drefl
organised in social environment.” This TS I5TIq0 fhgrdhend 2 T8 ST oy
statement indicates towards which teaching 1 g R 1 ok Tog Fear & ?
method ?
(A) Demonstration ) Fed
(B) Heuristic (B) Fgﬁ%
(C) Problem Solving (C) T HHE
(D) Project (D) Wae
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31. Who is known for the “Wessex Novels” ?

(A) Walter Scott (C) Meredith
(B)  Anthony Trollope (D) Thomas Hardy
32.  ‘Reading is his favourite passion.” The underlined word here acts as a
(A) Past Participle (C) Present Participle
(B) Gerund (D) Participle Adjective
33.  ‘The Guide” was published in :
(A) 1956 A.D. (C) 1958 A.D.
(B) 1957 A.D. (D) 1959 A.D.
34.  Fill in the blank with a suitable verb :
Sentence — Mr. Anurag speaks as if he .............. the prime minister of India.
(A) is (C) were
(B) was (D) will be
35.  Which novel of Mulk Raj Anand is known as a ‘character’ novel ?
(A) Untouchable (C) Two Leaves and A Bud
(B) Coolie (D) The Village
36.  One who lives a life full of pleasures and fun, called a :
(A) Hedonist (C) Harbinger
(B) Humbug (D) Hesperus
37.  The lines “They also serve who only stand and wait” occur in which poem of Milton ?
(A) Paradise Lost (C) On his blindness
(B) When the Assault was Intended (D) Paradise Regained
38.  Who among the following is considered as the ‘first real poet of democracy’ ?
(A) Walt Whitman (C) William Wordsworth
(B) T.S. Eliot (D) Emily Dickinson
39.  Which is the autobiographical novel by M.R. Anand ?
(A) Two leaves and A bud (C) Untouchable
(B) Morning Face (D) Coolie
40.  Fill in the blank :
A fire ..o, out in our street last night.
(A) break (C) broke
(B) is breaking (D) None of these
41.  Frost’s widely quoted poem ‘Mending Wall’ was published in :
(A) Mountain Interval (C) A Boy’s Will
(B) North of Boston (D) New Hampshire
42.  Correct meaning of the word ‘Altruist’ is :
(A) A person who does not believe in God (C) Who believes in truth
(B)  Who is optimistic (D) One who considers the wellbeing of others
43.  Who paid homage to one of his contemporary poets in ‘In memory of W.B. Yeats’ ?
(A) T.S. Eliot (C) W.H. Auden
(B) Stephen Spender (D) None of the above
44.  Whose wife and children were ‘savagely slaughtered’ in the play Macbeth ?
(A) Malcolm (C) Ross
(B) Macduff (D) Macbeth
45.  What is the life span of Francis Bacon ?
(A) 1560 A.D.-1628 A.D. (C) 1561 AD.-1628 A.D.
(B) 1564 A.D.-1630 A.D. (D) 1561 A.D.-1626 A.D.
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46. The meaning of ‘Amicably’ is :
(A) Frustrated (C) Ina friendly way
(B) Rejected (D) Protected
47.  The term “Negative Capability” was first used by :
(A) John Keats (C) Coleridge
(B) P.B. Shelley (D) Byron
48.  Which part of speech, the underlined word belong ?
The moral law is above civil.
(A) Adverb (C) Noun
(B) Adjective (D) Preposition
49.  Choose the correct option :
The measures taken to end the agitation proved.
(A) Effectual (C) Neutral
(B) Natural (D) Universal
50.  Who is the speaker of the opening line of the play ‘Twelfth Night’ ?
“If music be the food of love, play on;”
(A) Sebastian (C) Maria
(B) Sir Andrew (D) Orsino
51. When was ‘The Return of the Native’ written ?
(A) 1876 AD. (C) 1880 A.D.
(B) 1878 A.D. (D) 1882 AD.
52.  ‘The proper study of mankind is man.” Who is the writer of this famous line ?
(A) Alexander Pope (C) Thomas Gray
(B) John Donne (D) William Blake
53.  Which phrase has the same meaning as ‘Weal & Woe’ ?
(A) Right & left (C) Ups & downs
(B) Pros & cons (D) Ranks & rain
54.  ‘The Idiot Boy’ by Wordsworth is a/an :
(A) Elegy (C) Ballad
(B) Sonnet (D) Dramatic Monologue
55. Who is the master of ‘Stream of consciousness technique’ in British English fiction work ?
(A) Jane Austen (C) Emily Bronte
(B) Joseph Coward (D) Virginia Woolf
56.  What was the occasion for writing the poem ‘O Captain My Captain’ ?
(A) The assassination of Abraham Lincoln (C) The passing of the slave law
(B) The on threat of Civil War in America (D) Walt Whitman’s friendship with Anne Gilchrist
57.  This famous line, “To strive, to seek, to find, and not to yield” is written by whom ?
(A) S.T. Coleridge (C) P.B. Shelley
(B) Lord Alfred Tennyson (D) Robert Browning
58.  Bluntschli, who is Swiss, by birth in “Arms and the Man” fights for :
(A) The Serbians (C) The Poles
(B) The Swiss (D) The Germans
59.  Who is the writer of the poem ‘Dover Beach’ ?
(A) Matthew Arnold (C) T.S. Eliot
(B) W.H. Auden (D) Stephen Spender
25/32 87/107/108 C-6




60.  Which is not an ‘ode’ by John Keats ?

(A) Ode to a Nightingale (C) Ode on a Grecian Urn
(B) Ode to the West Wind (D) Ode to Autumn
61. ‘to+ verb’ formis:
(A) aGerund (C) an Infinitive
(B) Perfect participle (D) Past participle
62.  The word ‘Renaissance’ means :
(A) Re-union (C) Responsibility
(B) Revival of learning (D) Relationship
63.  “Pope could fix in one couplet more sense than I can do in six” Who said this about Pope ?
(A) Dr. Johnson (C) Addison
(B) Swift (D) Dryden
64.  Which of these is not a work by Stephen Spender ?
(A)  World within a world (C) For whom the bell tolls
(B) The Temple (D) The struggle of the modern
65. ‘It was getting darker’. The sentence is in :
(A) Past perfect continuous tense (C) Past continuous tense
(B) Past perfect tense (D) Simple past tense

66.  Which novel of Ruskin Bond was adopted into Hindi film, which won the National Film Award for
‘Best Children’s Films’ ?

(A) The Sensualist (C) The Blue Umbrella
(B) The Night Train at Deoli (D) The Cherry Tree
67.  The name of Tennyson’s departed friend, to whom he has dedicated most of his poems, is :
(A) W.H. Auden (C) Robert Browning
(B) William Wandsworth (D)  Arthur Henry Hallam
68. A poem of fourteen lines is known as : '
(A) Song (C) Idyll
(B) Sonnet (D) Eyric

69.  Which of the following sentences is grammatically correct ?
(i) He was hung for the murder. (i) This book is preferable to that.

(A) (i) is correct (ii) is incorrect (C) (1) is correct (i) is incorrect
(B) Both (i) and (ii) are correct (D) Both (i) and (ii) are incorrect
70.  “Life is a tale told by an idiot” is uttered by :
(A) Hamlet (C) Lear
(B) Othello (D) Macbeth
71.  Which story of Ruskin Bond shows his deep affection for the mountains and the trees ?
(A) Delhi is not far (C) Time stops at Shamli
(B) Death of the tree (D) The sensualist
72. Which of the following is known as the second title of ‘Twelfth Night’ ?
(A) AsYouLikelt (C) Measure for Measure
(B) What You Will (D) Joyous, refined, romantic
73. Which of the following word is a possessive adjective ?
(A) These (C) There
(B) Their (D) That
74.  Who among the following is not an American poet ?
(A) Walt Whitman (C) Emily Dickinson
(B) Stephen Spender (D) Robert Frost
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Who is Emilia in the play Othello ?

(A) Wife of Iago (C) Daughter of Brabantio
(B) Mistress of Cassio (D) Wife of Othello
Sarojini Naidu’s unpublished words were brought out after her death under the title :
(A) The Golden Thresh old (C) The Feather of Dawn
(B) The Bird of Time (D) The Broken Wing
Which of the following is not a poem by T.S. Eliot ?
(A) Inthe Seven Woods (C) The Wasteland
(B) Gerontion (D) Ash— Wednesday

78.  Fill in the blank :

That pair of scissors .............. to me.

(A) belongs (C) belonging
(B) belong (D) None of the these

79.  Name the poem of W.B. Yeats in which the following lines occurs :
“A mouth that has no moisture and no breath
veeeeenn. L call it death in life
and life in death”

(A) Sailing to Byzantium (C) Among School Children
(B) The Winding Stair (D) Byzantium

80. A messenger sent to teach the gospels is called a/an :
(A) Vagabond (C) Messenger
(B) Abbot (D) Apostle

81.  The Rhyme — scheme of Shakespearean sonnets is :
(A) aabb—ccdd —eeff— gg (C) aaab-— cccd — eeef—gg
(B) abab—cdcd —efef—gg (D) None of these

82.  Choose the correct option :
Adjective of the word ‘Death’.
(A) Die (C) Deadly
(B) Dead (D) None of these
83.  Who wrote the following :
“Crafty men condemn studies, simple men admire them, and wise men use them.” ?

(A) Shakespeare (C) Donne
(B) Mitton (D) Bacon
84.  The correct antonym of “Generous™ :
(A) Clumsy (C) Guilty
(B) Awkward (D) Stingy
85.  Who defined ‘wit’ as — “what oft was thought, but never so well expressed” ?
(A) Richard Steele (C) John Donne
(B) Alexander Pope (D) William Blake
86.  Something written or said in memory of a dead person, especially words written on a gravestone is called
a/an :
(A) Epitaph (C) Prattle
(B) Wreath (D) Servile
87. “False face must hide, what the false heard doth know”, who speaks these lines and to whom in
‘Macbeth’ ?
(A) Macbeth to Banguo (C) Duncan to Donalbain
(B) Banguo to Lady Macbeth (D) Macbeth to Lady Macbeth
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88.

‘More of us die in bed than out of it.” In the given sentence ‘More’ is :

(A) Pronoun (C) Adverb
(B) Adjective (D) Conjunction
89. Who is Viola’s brother in the play ‘twelfth Night ?
(A) Sebastian (C) Malvalio
(B) Duke Orsino (D) Sir Toby Belch
90.  Give one word substitute for the following :
One who hates mankind.
(A) Misogynist (C) Philogynist
(B) Misanthropist (D) Pessimist
91. In which of the following poems the three main events of man’s life on earth are depicted in a series of
questions and answers ?
(A) Indian Weavers (C) The Last Ride Together
(B) Dover Beach (D) None of the above
92.  Fill in the blanks with an appropriate word :
There were trees on ... s side of the road.
(A) every (C) each
(B) some (D) either
93.  Name the eritic who defined Romanticism as “the addition of strangeness to the desire of beauty” ?
(A) Herford (C) Waltar Pater
(B) Victor Hugo (D) Arnold
94.  Fill in the blank :
They were .............. entering the village.
(A) prohibited from (C) prohibited in
(B) prohibited for (D) prohibited on
95.  ‘The Nightingale of India’ was a title given to Sarojini Naidu by :
(A) Indira Gandhi (C) Rabindra Nath Tagore
(B) Jawahar Lal Nehru (D) Mahatma Gandhi
96.  Fill in the blank :
He had hardly reached the station .............. the train came.
(A) where (C) what
(B) which (D) when
97.  Which of these works does not belong to Robert Lynd ?
(A) Ireland : A Nation (C) The Art of Letters
(B) Old and New Masters (D) My Early Life
98.  Supply suitable article :
- T3 |- R—— heir to the throne.
(A) an (C) the
B) a (D) None of these
99.  The full name of R.K. Narayan is :
(A) Rasik Kumar Narayan (C) Rajjo Kamal Narayan
(B) Ramachandra Kumar Narayan (D) Rasipuram Krishnaswami Narayanswami
100. ‘Neither of the accusations is true.” ‘Neither’ in this sentence is used as a/an :
(A) Relative Pronoun (C) Distributive Pronoun
(B) Indefinite Pronoun (D) Emphatic Pronoun
ok sk ok ok
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B aq S0THFRY SER-UFF T FEd SER R & R 9 | S0TH0ARD SER-T T FE-gRaE W B
S g 4 T AR 7 & o W A o A Rl | 78 o e v o 6 0@ AR s e e ar
Rig TR TS T A1 @S e a1 o R ¥ gee @ o @ v wen gl o @1 56 R @
PRTE) HE R RIS 3P 2l T |

Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also
insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.

F g B (Rough work) W& GRaar # & far s |
Rough work is to be done in the Question booklet only.

T® ¥ @ IR 3 9 TG Ribed D SFER TF & g B I FER | U6 | IRw R T gl 9 I
AR T BE R T 9N @1 dfage o1 Bl eld Sedx AT WIQ |

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.

JEER : A oy bl v &1 U9 W@ 41 39 WBR &

Example: Suppose Q.No. 41 of the subject is as below:

9

Q.No. 41:  What type of mixture is smoke ? g3t fore yaR &1 s 8 ?
(A) Solid mixed with a gas (A) iy faf¥a s
(B)  Gas mixed with a gas (B) v faf¥a i
(C) Liquid mixed with a gas (C) ¥ faf¥a 7
(D)  Gas mixed with a liquid and a solid (D) %a d 3 fafda 1w

fe YD ITAR 3 T P W) I/ RFA (D) &, A SeR-AG H g0 AT | Hafer fave—awq e ge wem
4 B T S I Bl gH TOR W]

If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Answer-sheet as follows:

e fafer Tora fafer

Correct method Wrong method

OO

(af e faftr & ot el oFw Ml & $1E forg e T @ A W IR @ W T B Y & SR e SR A
TV UG HAT 3iF FOmE B T )

(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)

F qheiid @ Ry ®7 @ Goe & W @ AR 9% w9 we-gRae § 98w s gs den Ryl s
e e @ S9! GE g o e @l < s e ge S R O 9 sar Ffe B guR o 69 |

The candidates are strongly advised that in case they come across any discontinuity in the serial number of the
questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them.

Tl ¥ geaeie W Aed dederey aU1 31 SAARIG WA O AIIge B, YoR SetE @1 e e qofer: afdfa @ |

Use of electronics/manual calculator and any electronic equipment like mobile phone etc. is not allowed.

1. 39 T8 ¥ FONTd 3 B WA 2| TG T Saik B oy % S Ber T |
There is NEGATIVE MARKING in this examination. For every wrong answer % mark will be deducted.

2. TS UHE P A A QW AR I I W A FOIGH AF B WauH 2| 39 4 o San @ Aifd Y IF e ||
On giving of two or more than two answer for every question, % mark will be deducted.

3. T9 W-gRa@ # I A EHIS AR Fw F (Rough Work) & JfRa g9 7 ford |
Do not write anything except the Roll Number and rough work in this Question booklet.

4. T TR & T¥E OMR W B R BE & W ¥ A R dR-4R wre whand ot a1 whereff e T
o SRR T e i 7 FEiay u du e B S HeR |
Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over, Candidate will
carry candidate’s copy and handed over the original and office copy of OMR Answer Sheet to the Invigilator.



